Babyhug Chester 3 in 1 Wooden Rocking Cot Bed

Style Code: NUBF026

years

Upto 35 kg

0 to 10 | carrying capacity

= 3in1cot bed = Sturdy Frame

babyhug
-

= Rocking Function = Mosquito Net

Read these instructions carefully before use and keep them for future reference.
Failure to follow these warnings and the assembly instructions could result in serious injury

A : siderail x 1

B : lengthen side rail x 1

C: frontrail x 1 D : rearrail x 1

<

E : bed basex 1

F : storage base x 1

G : base holder x 2

TIEN

H : lengthen base
support bar x 2

\

&)

M6 x 35 bolt x 4

M6x45 bolts — 10

M6 x 60 bolt x 8 bolt x 2

M6 x 28 swing

S

o/

storage box holder - 6

Storage board
holder x 6

D

Mosquito net x 1

Bolt casters x 4

"

Wrench x 1

Cot Bed Mode

Step 2

Lock and open the front rail Lock: As shown in
the figure, turn up the upper part of the front
rail, push the two end of buttons on the front
rail into the plastic parts on the head of the bed,
until itis stuck. Open: Push the buttons inward,
and then pull the front rail outside. It can be

oo

Step 1

Install cot bed As shown in figure, connect and
fix the product components A, B, C, D with 10 x
M6*45 bolts.(Note: The movable side rails
should be turned outwards. The holes on the
rear rail should face to outside. Insert screws
into the corresponding holes before assembly,
and then tighten uniformly.)

opened.

» S
w‘,\\w“““ 8pc 8pc ﬁ%b%c

Step3

Install bed base and storage base. As shown in

» thefigure:

1.Fix the 6 storage base holders and make the
storage base reston them.

2.Use 8 x M6*60 bolts to fix the bed base
holders facing inside at the required heightand
make the bed base restonthem.

7 20¢ | D 1pc

Step 5

Installmosquito net

As shown in the figure, insert the bar into the
hole on the circle, combine the bar with the rail
by using 2 x M6*28 bolts to get throuth the
holes on the bar and rail and fix them together;
Then put down the net. (There are 2 adjustable
positions forthe net bar.)

/ 1pc

Step4

Install casters

As shown in the figure, insert four casters into
the holes at the bottom of the column. (The
swing board is detachable. If you don't want it
to be swinging, please remove the bolts under
the swing board and insert the casters into the
holes.)

Step 6

Adjustable bed base

As shown in the picture, there are 3 adjustable
positions for the bed base.

1.The highest position: for baby of 0-6months;
2.The middle position: for baby of 6-9months;
3.Thelowest position: for baby over 9months.

Step 8

Using near parents'bed

Turn the connected plastic part to open the
front rail. Put the cot along with parents' bed,
andlockthe wheels.

Step7

Swing function
Asshowninthe picture, remove 4 casters so the
crib can be swayed.

Step9

Using of storage space

As shown in the picture, push down the button
on the door of storage space to keep things in
and or take out. Close the door and lock the
button.

Step 10

Using of Juvenile bed

Asshowninthefigure: Step (1):

a.Removethe swingbarinsiderail;
b.Remove the swing bar and lengthen side rail and the remove bolts at the black spots marked,
detachthesiderail upperpartandinside part.
c.Fixthe detachedinside partof the side rail to lengthen bed base bar.

Step(2):

® « |4pc| G
H| S\ |2pc

2pc

—

S
SRS
o>

Move the bed base to the middle positions as shown in Step 3, using 4 x M6*35 bolts cross the bed
base holdertolock the bed base bar;

Step(3):Remove the 2small doors from the front rail, then install it at side rail bar & bed base.

E6;

« Please wipe the product frequently

- Please make sure the parts are securely fitted and screws tightened always
- Ifany parts are found to be broken or damages. Please replace immediately
- Please read the instructions carefully before installing and keep the manual for later use.

« Do not leave anything in the cot or place the cot close to other items, which could provide
a foothold or present a danger of suffocation or strangulation.

« Do not use the product if any part is broken, torn or missing

- Do not leave the child unattended. Parent should always be around

« Make sure the rail is locked when the baby is in the bed

- Do not over load the bed beyond the specified capacity (35kg)

- Suitable for age group 0 to 6 years

+ The safest position of the mattress is the lowest one, once the baby is able to sit, the

position should not be changed.

- Be aware of the risk of open fire and other sources of strong heat such as electric bar fires,

gas fires etc. in the vicinity of the product

+ When the mattress is wet, dry it in cool and ventilated place, don't place under direct

Sunshine.
+ Mattress size 120cm length x 35cm width

« Once the product is assembled, adjust every part to the right position and tight the

screws.

« After the installation, clean the cot thoroughly




